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. Show that if > a, converges absolutely, then > a, cos(nx)
=l

5=l

converges uniformly on R. (10 points)

Use the identity l—l—t=z ", || <1, to show that
- =0

-In(1-x) = i X"+, |x] < 1. (10 points)
n=0 .

sinx

Find %—V if y= jﬁ?dz.(lOpoints)

ax 0

Let F: R— R be continuous. Show that if F(x)=x for every
irrational number x, then F(x)=x for every real number x. (12
points)

LagbedmuﬂwguJF=QQLlilHX&ﬁ¢&ﬁMmd (0,0)= 0.
x4+ g

+y°
2 2
Find 2£ (0,0 and 2-£(0,0). (12 points)
Ox0y OyOx
Determine which of  f(x) = sin(x), g(x) = sin(1/x), (x) = xsin(1/x)
is uniform continuous on (0, «). Give your reason. (18points)
Evaluate cach of the following :

. 1
(a) L,,;u E"_‘*E;(-“ +3)

.(8 points)

(b) lim (1->)" (8 points)
nosw n

Ox . .
in term of x and
(f

Let u(x,y)=x*-y* and v(x,y)=2xy . Compute

y. (12 points)






